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Conversation (phrasal verbs)  

Shopping trip – Exercise 

 

Fill in the gaps in this conversation. 

 

A: Why don't you ... try on ... this coat? 

B: I can't ......................... it ......................... over my jumper. 

A: Why don't you ......................... your jumper? 

B: I'm not really ......................... a coat. 

A: Look. They've ......................... £50 ......................... the price. It's a bargain. 

B: I'm sure we'll find a cheaper one if we .................................. 

A: I bet you don't want it because it's an expensive brand. 

B: Yes, you know I don't like it when people wear expensive brands to ................................. 

A: Oh, stop ................................. excuses. Just try it on. 

B: O.K. then, but not brown. It doesn't ................................. my other clothes.  

A: Fair enough. You can ................................. any colour you want. 

 

 

 

 

 

 


